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 In the diagram, AB is parallel to CDE. 

 Find the value of 

 

 (a) x, 

 

 Answer(a) x =   [1] 

 

 (b) y. 

 

 

 

 Answer(b) y =   [2] 
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 (a) For the diagram above, write down an equation in x. 

 

 

 Answer(a)   [1] 

 

 (b) Solve your equation. 

 

 

 

 

 Answer(b) x =   [2] 
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  A straight line intersects two parallel lines as shown.

  Find the value of x.

 Answer(a) x =  ................................................  [2] 

 (b)

30°

128° y°

NOT TO
SCALE

  Calculate the value of y.

 Answer(b) y =  ...............................................   [1]
_____________________________________________________________________________________

16 (a)  The average distance of the Moon from the Earth is 384 400 km.

  Write this distance in standard form.

  Answer(a)  .........................................  km  [1]

 (b)  Calculate  (4.3 × 108 ) + (2.5 × 107 ) .

  Give your answer in standard form.

 Answer(b)  ...............................................   [2]
_____________________________________________________________________________________
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 ABCDEFGH is a regular octagon. 

 

 (a) Show that angle BCD = 135°. 

 

 Answer (a) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 [2] 

 

 

 (b) Find 

 

 (i) angle DEB, 

 

 

 

 

 Answer(b)(i) Angle DEB =   [1] 

 

 (ii) angle FEB. 

 

 

 

 

 Answer(b)(ii) Angle FEB =   [1] 
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 In the diagram, AB is parallel to CDE. 

 Find the value of 

 

 (a) x, 

 

 Answer(a) x =   [1] 

 

 (b) y. 

 

 

 

 Answer(b) y =   [2] 
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 (a) For the diagram above, write down an equation in x. 

 

 

 Answer(a)   [1] 

 

 (b) Solve your equation. 

 

 

 

 

 Answer(b) x =   [2] 

 

5

0580/13/M/J/13© UCLES 2013 [Turn over

For
Examiner′s
Use

10  Use a calculator to fi nd

 (a) 5 24

5  ,

 Answer(a)  ...............................................   [1]

 (b) °40
7

cos
 .

 Answer(b)  ...............................................   [1]
_____________________________________________________________________________________
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 (a)  Calculate the size of angle AOB.

 Answer(a) Angle AOB =  ...............................................   [1]

 (b)  What type of angle is angle AOB?

 Answer(b)  ...............................................   [1]
_____________________________________________________________________________________
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 In the quadrilateral ABCD, AB = AD and CB = CD. 

 

 Angle BAD = 40° and angle CBD = 58°. 

 

 (a) Calculate 

 

 (i) angle ABD, 

 

 

 

 

 Answer(a)(i) Angle ABD =   [1] 

 

 (ii) angle BCD. 

 

 

 

 

 Answer(a)(ii) Angle BCD =   [1] 

 

 

 (b) Write down the mathematical name for the quadrilateral ABCD. 

 

 

 Answer(b)   [1] 
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  Use the information in the diagram to fi nd the value of a.

 Answer a =  ...............................................   [2]
_____________________________________________________________________________________

7  Show that     1 2
1  ÷ 16

3  = 8.

  Do not use a calculator and show all the steps of your working.

 Answer

[2]
_____________________________________________________________________________________

8  Sebastian ran a race in 11.4 seconds, correct to 1 decimal place.

  Complete the statement about the time, t seconds, that Sebastian took to run the race.

Answer ....................... Ğ t < .......................  [2]
_____________________________________________________________________________________
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 (a) Triangle AOB is isosceles. 

 OA = OB. 

 

 Calculate angle AOB. 

 

 

 

 

 Answer(a) Angle AOB =   [1] 

 

 

 (b)  

O

A B

NOT TO
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75°
 

 

 AB is one side of a regular polygon with n sides. 

 

 (i) Calculate n. 

 

 

 

 Answer(b)(i) n =   [2] 

 

 (ii) Find the size of an interior angle of this polygon. 

 

 

 

 Answer(b)(ii)   [1] 
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x°
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 Answer(a) x =   [1] 

 

 

 (b) EF is a diameter of the circle. 

 

 Find the value of y. 

 

y°
63°E

F

NOT TO
SCALE

 

 

 Answer(b) y =   [1] 

 

 

 (c) Find the value of z in this isosceles triangle. 

 

z°

48° NOT TO
SCALE

 

 

 

 

 Answer(c) z =   [1] 
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 AC is a diameter of a circle, centre O. 

 BCD is a tangent to the circle and E is a point on the circumference. 

 Angle ECD = 58°. 

 

 Work out the value of 

 

 (a) x, 

 

 

 

 

 

 

 Answer(a) x =   [2] 

 

 

(b) y. 

 

 

 

 

 

 

 Answer(b) y =   [2] 
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  Answer(a) 

 

 

 

 

 

 

 

 

 

 

 [2] 

 

 

 (b)  

x° y°

y°76°
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D
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 The diagram shows a pentagon ABCDE. 

 BC is parallel to AE and angle CDE is a right angle. 

 

 Find the values of x and y. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 Answer(b) x =    

 

y =   [3] 
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 Choose one of these symbols to make each statement correct. 

 

 (a) −15  −5  [1] 

 

 

 (b) (−5)
2

  25  [1] 

 

 

 

6 Hans invests $750 for 8 years at a rate of 2% per year simple interest. 

 

 Calculate the interest Hans receives. 

 

 

 

 

 

 Answer $   [2] 
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 The diagram shows a quadrilateral ABCD. 

 CDE is a straight line. 

 

 Calculate the value of x. 

 

 

 

 

 Answer x =   [2] 
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 In the diagram lines AC and DF are parallel and AE = EB. 

 Angle AEB = 52°. 

 
 (a) Write down the mathematical name for triangle AEB. 

 

 Answer(a)   [1] 

 
 (b) Work out the value of a. 

 

 

 Answer(b) a =   [1] 

 
 (c) Explain why a = b. 

 

 Answer(c)   [1] 

 

 

 

12 Solve the simultaneous equations. 

 4x +  y  = 18 

 5x + 3y = 19 

 

 

 

 

 

 

 

 

 

 

 

 

 Answer x =    

 

y =   [3] 
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 The diagram shows part of a regular polygon. 

 Each interior angle of the polygon is 160°. 

 Calculate the number of sides of the polygon. 

 

 

 

 

 

 

 Answer   [3] 

 
 

 

 

12 Write down the value of 

 

 (a) 10
-2

, 

 Answer(a)   [1] 

 

 

 (b) 4
0

, 

 

 Answer(b)   [1] 

 

 

 (c) 
3

343 . 

 

 Answer(c)   [1] 

 
 

 

 

13 Solve the simultaneous equations. 

 

2x  −  y = 9 

 

7x + 2y = 26 

 

 

 

 

 

 

 Answer x =    

 

              y =   [3] 

 
 


